ENOUGH, NOT ENOUGH, TOO

COMPLETE THE SENTENCES WITH “ ENOUGH, NOT ENOUGH OR TOO AND THE
ADIECTIVE IN PARETHESIS.

1. Alanis (old) to vote at the
elections.

2. This box is (heavy) to
carry. | need some help.

3.1 don't like the weather in winter. It isn't
(warm).

4. My brother didn’t fail the exam because he is
(intelligent)

5. Do you have other pantsg These ones aren't
(tight) for me.

6. | will live in a new house because my house is
(small) for six people.

7. My backpackisnt (big).
I can't fit all my books in it.

o
qu 8. These sleeves are (long) for me.
9. Jorge isn't (tall) to play | "%
basketbal. f; &
o
| don't have time and this exam is

(difficult)

11. This car is (fast) to win the
race.
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